ANnswers pg 247 #4,5

4. a) synthesis
b) single replacement
c) double replacement
d) decomposition
€) decomposition

f) single replacement

g) synthesis
5. a) barium + sulfur = barium sulfide
Ba + Ss = 8824.82+
Ba +S; = BaS (skeletal)

8Ba + S = 8BaS (balanced)

b) bromine + sodium iodide = iodine + sodium bromide
Br, + Na"I" = I, + Na"Br"
Br, + Nal = I + NaBr (skeletal)
Br, +2Nal = I, +2NaBr (balanced)

c) barium nitrate + sodium sulfide = barium sulfide + sodium nitrate
Ba*’NO;"" + Na''s* - Ba2+S2- + Na'*NOs!-
Ba(NOs), + Na,S =BaS + NaNO; (skeletal)
Ba(NOs), + Na,S =BaS + 2NaNO; (balanced)

d) lithium carbonate = carbon dioxide + lithium oxide
L'"COs" = CO. + Li+Oz-
Li,CO; = CO, + Li,O (skeletal and balanced)

e) lead (Il) oxide = |ead + oxygen
Pb>’0* = Pb + O
PbO =Pb + O, (skeletal)
2PbO =2Pb + O, (balanced)

f)calcium + water = hydrogen + calcium hydroxide
Ca + HO = Hz + Ca2*OH'-
Ca+H,O = H, + Ca(OH), (skeletal)
Ca + 2H,0 = H, + Ca(OH), (balanced)

g) sulfur trioxide + water = sulfuric acid
SO; + H,0 = H,SO, (skeletal and balanced)
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